Transfers Report

This report contains the transfers results.

Contest Name

Ward 5 Govan

Valid Votes

Positions to be Filled

Quota

Ward 5 Govan

6,479

4

1,296

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Richard BELL	Scottish National Party (SNP)	1,096
William BONNAR	Scottish Socialist Party	70
Ben DENTON-CARDEW	Scottish Liberal Democrats	142
Stephen DORNAN	Scottish National Party (SNP)	1,110
Liza FARRELL	Tommy Sheridan - Solidarity - Hope Over Fear	44
John KANE	Glasgow Labour	1,520
Susan MCCOURT	Scottish Conservative and Unionist	739
Muhammad SHOAIB	Glasgow Labour	527
Pamela WILSON	Scottish National Party (SNP)	627
Allan YOUNG	Scottish Green Party	604
	Total	6,479

Candidate John KANE Elected with 1,520 votes, being in excess of the quota of 1,296

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of John KANE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Richard BELL	33	0.14736	4.86288
Transfer to William BONNAR	17	0.14736	2.50512
Transfer to Ben DENTON-CARDEW	34	0.14736	5.01024
Transfer to Stephen DORNAN	77	0.14736	11.34672
Transfer to Liza FARRELL	19	0.14736	2.79984
Transfer to John KANE	0	0.00000	0.00000
Transfer to Susan MCCOURT	92	0.14736	13.55712
Transfer to Muhammad SHOAIB	972	0.14736	143.23392
Transfer to Pamela WILSON	21	0.14736	3.09456
Transfer to Allan YOUNG	62	0.14736	9.13632
Value of non-transferable ballot papers			28.45328
	Total		224.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Liza FARRELL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Richard BELL	4	1.00000	4.00000
Transfer to Richard BELL	1	0.14736	0.14736
Transfer to William BONNAR	8	0.14736	1.17888
Transfer to William BONNAR	12	1.00000	12.00000
Transfer to Ben DENTON-CARDEW	3	1.00000	3.00000
Transfer to Stephen DORNAN	4	1.00000	4.00000
Transfer to Stephen DORNAN	1	0.14736	0.14736
Transfer to John KANE	0	0.00000	0.00000
Transfer to Susan MCCOURT	1	1.00000	1.00000
Transfer to Muhammad SHOAIB	4	1.00000	4.00000
Transfer to Muhammad SHOAIB	3	0.14736	0.44208
Transfer to Pamela WILSON	3	1.00000	3.00000
Transfer to Allan YOUNG	8	1.00000	8.00000
Transfer to Allan YOUNG	3	0.14736	0.44208
Value of non-transferable ballot papers			5.44208
	Total		46.79984

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of William BONNAR

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Richard BELL	1	0.14736	0.14736
Transfer to Richard BELL	10	1.00000	10.00000
Transfer to Ben DENTON-CARDEW	10	1.00000	10.00000
Transfer to Ben DENTON-CARDEW	4	0.14736	0.58944
Transfer to Stephen DORNAN	6	1.00000	6.00000
Transfer to Liza FARRELL	0	0.00000	0.00000
Transfer to John KANE	0	0.00000	0.00000
Transfer to Susan MCCOURT	4	1.00000	4.00000
Transfer to Susan MCCOURT	2	0.14736	0.29472
Transfer to Muhammad SHOAIB	5	0.14736	0.73680
Transfer to Muhammad SHOAIB	5	1.00000	5.00000
Transfer to Pamela WILSON	4	1.00000	4.00000
Transfer to Allan YOUNG	28	1.00000	28.00000
Transfer to Allan YOUNG	1	0.14736	0.14736
Value of non-transferable ballot papers			16.76832
	Total		85.68400

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Ben DENTON-CARDEW

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Richard BELL	2	0.14736	0.29472
Transfer to Richard BELL	7	1.00000	7.00000
Transfer to William BONNAR	0	0.00000	0.00000
Transfer to Stephen DORNAN	19	1.00000	19.00000
Transfer to Stephen DORNAN	3	0.14736	0.44208
Transfer to Liza FARRELL	0	0.00000	0.00000
Transfer to John KANE	0	0.00000	0.00000
Transfer to Susan MCCOURT	1	0.14736	0.14736
Transfer to Susan MCCOURT	36	1.00000	36.00000
Transfer to Muhammad SHOAIB	21	1.00000	21.00000
Transfer to Muhammad SHOAIB	18	0.14736	2.65248
Transfer to Pamela WILSON	5	1.00000	5.00000
Transfer to Allan YOUNG	40	1.00000	40.00000
Transfer to Allan YOUNG	4	0.14736	0.58944
Value of non-transferable ballot papers			28.47360
	Total		160.59968

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Pamela WILSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Richard BELL	1	0.14736	0.14736
Transfer to Richard BELL	137	1.00000	137.00000
Transfer to William BONNAR	0	0.00000	0.00000
Transfer to Ben DENTON-CARDEW	0	0.00000	0.00000
Transfer to Stephen DORNAN	430	1.00000	430.00000
Transfer to Stephen DORNAN	6	0.14736	0.88416
Transfer to Liza FARRELL	0	0.00000	0.00000
Transfer to John KANE	0	0.00000	0.00000
Transfer to Susan MCCOURT	2	1.00000	2.00000
Transfer to Muhammad SHOAIB	3	1.00000	3.00000
Transfer to Muhammad SHOAIB	5	0.14736	0.73680
Transfer to Allan YOUNG	5	0.14736	0.73680
Transfer to Allan YOUNG	54	1.00000	54.00000
Value of non-transferable ballot papers			13.58944
	Total		642.09456

Transfers Report

This report contains the transfers results.

Stage 7 - Surplus of Stephen DORNAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Richard BELL	21	0.02662	0.55902
Transfer to Richard BELL	1,255	0.18069	226.76595
Transfer to William BONNAR	0	0.00000	0.00000
Transfer to Ben DENTON-CARDEW	0	0.00000	0.00000
Transfer to Stephen DORNAN	0	0.00000	0.00000
Transfer to Liza FARRELL	0	0.00000	0.00000
Transfer to John KANE	0	0.00000	0.00000
Transfer to Susan MCCOURT	14	0.18069	2.52966
Transfer to Susan MCCOURT	4	0.02662	0.10648
Transfer to Muhammad SHOAIB	22	0.02662	0.58564
Transfer to Muhammad SHOAIB	40	0.18069	7.22760
Transfer to Pamela WILSON	0	0.00000	0.00000
Transfer to Allan YOUNG	110	0.18069	19.87590
Transfer to Allan YOUNG	12	0.02662	0.31944
Value of non-transferable ballot papers			27.85063
	Total		285.82032

Transfers Report

This report contains the transfers results.

Stage 8 - Surplus of Richard BELL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Richard BELL	0	0.00000	0.00000
Transfer to William BONNAR	0	0.00000	0.00000
Transfer to Ben DENTON-CARDEW	0	0.00000	0.00000
Transfer to Stephen DORNAN	0	0.00000	0.00000
Transfer to Liza FARRELL	0	0.00000	0.00000
Transfer to John KANE	0	0.00000	0.00000
Transfer to Susan MCCOURT	1	0.00341	0.00341
Transfer to Susan MCCOURT	3	0.01892	0.05676
Transfer to Susan MCCOURT	16	0.02320	0.37120
Transfer to Susan MCCOURT	22	0.12840	2.82480
Transfer to Muhammad SHOAIB	101	0.12840	12.96840
Transfer to Muhammad SHOAIB	70	0.02320	1.62400
Transfer to Muhammad SHOAIB	11	0.01892	0.20812
Transfer to Muhammad SHOAIB	5	0.00341	0.01705
Transfer to Pamela WILSON	0	0.00000	0.00000
Transfer to Allan YOUNG	4	0.00341	0.01364
Transfer to Allan YOUNG	6	0.01892	0.11352
Transfer to Allan YOUNG	438	0.02320	10.16160
Transfer to Allan YOUNG	467	0.12840	59.96280
Value of non-transferable ballot papers			102.59935
	Total		190.92465

Transfers Report

This report contains the transfers results.

Stage 9 - Exclusion of Muhammad SHOAIB

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Richard BELL	0	0.00000	0.00000
Transfer to William BONNAR	0	0.00000	0.00000
Transfer to Ben DENTON-CARDEW	0	0.00000	0.00000
Transfer to Stephen DORNAN	0	0.00000	0.00000
Transfer to Liza FARRELL	0	0.00000	0.00000
Transfer to John KANE	0	0.00000	0.00000
Transfer to Susan MCCOURT	1	0.00341	0.00341
Transfer to Susan MCCOURT	1	0.01892	0.01892
Transfer to Susan MCCOURT	11	0.02320	0.25520
Transfer to Susan MCCOURT	2	0.02662	0.05324
Transfer to Susan MCCOURT	7	0.12840	0.89880
Transfer to Susan MCCOURT	182	0.14736	26.81952
Transfer to Susan MCCOURT	2	0.18069	0.36138
Transfer to Susan MCCOURT	51	1.00000	51.00000
Transfer to Pamela WILSON	0	0.00000	0.00000
Transfer to Allan YOUNG	81	1.00000	81.00000
Transfer to Allan YOUNG	10	0.18069	1.80690
Transfer to Allan YOUNG	195	0.14736	28.73520
Transfer to Allan YOUNG	36	0.12840	4.62240
Transfer to Allan YOUNG	4	0.02662	0.10648
Transfer to Allan YOUNG	37	0.02320	0.85840
Transfer to Allan YOUNG	2	0.01892	0.03784
Transfer to Allan YOUNG	1	0.00341	0.00341
Value of non-transferable ballot papers			533.85179
	Total		730.43289

Transfers Report

This report contains the transfers results.

Stage 10 - Exclusion of Susan MCCOURT

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Richard BELL	0	0.00000	0.00000
Transfer to William BONNAR	0	0.00000	0.00000
Transfer to Ben DENTON-CARDEW	0	0.00000	0.00000
Transfer to Stephen DORNAN	0	0.00000	0.00000
Transfer to Liza FARRELL	0	0.00000	0.00000
Transfer to John KANE	0	0.00000	0.00000
Transfer to Muhammad SHOAIB	0	0.00000	0.00000
Transfer to Pamela WILSON	0	0.00000	0.00000
Transfer to Allan YOUNG	1	0.00341	0.00341
Transfer to Allan YOUNG	3	0.01892	0.05676
Transfer to Allan YOUNG	19	0.02320	0.44080
Transfer to Allan YOUNG	1	0.02662	0.02662
Transfer to Allan YOUNG	20	0.12840	2.56800
Transfer to Allan YOUNG	58	0.14736	8.54688
Transfer to Allan YOUNG	4	0.18069	0.72276
Transfer to Allan YOUNG	134	1.00000	134.00000
Value of non-transferable ballot papers			734.93675
	Total		881.30198